
Caliper Repair Kits

KNORR BREMSE SERIES
          1...67

/benef�tcal�per



2/benef�tcal�per

Caliper Repair Kits



SN5 SERIES

PCS

PCS

1572 Cal�per Gu�de & Bush Repa�r K�t 

PCS

1512

PCS

1513

-----

2007

2008

3006

3007

1010

4003

4004

1038

7005

Caliper Pin  

Caliper Pin  

Pin Bolt   

Pin Bolt  

Bellow (Red) 

Bushing 

Bushing 

Plastic Ring 

Bolt Plug   

1

1

1

1

2

1

1

2

2

K001928

MAN 81.50822.6026 - BPW 09.801.07.05.0 - MERCEDES 000 420 4182

Ø 30x99 mm 

Ø 30x72 mm 

M16x1,5x75 mm

Ø 34x30x65 mm 

Ø 34x30x20 mm

M16x1,5x105 mm

Ø 34x14 mm 

MAN 81.50822.6027
Cal�per Repa�r K�t 

1037

1002

4001

Trust Part With Bellow

Shaft Body Dust Rubber

Bushing 

1

1

1

Ø 69mm

Ø 69mm

Back View

K001929

Ø 18x16x10mm

Back V�ew

Cal�per Repa�r K�t 

1037

4001

Trust Part W�th Bellow

Bush�ng 

1

1

Ø 69mm

K097826K50

Ø 18x16x10mm

MB 000 420 4282

1589

-----

Cal�per Leveller

4/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



Roller Bear�ng Set1592

-----

P�n�on Shaft1540

-----

1538

-----

1544

-----

Cal�per Cover Set1594

-----

Dust Cover1595

-----

Adjust�ng P�n�on Gear1543

-----

Cal�brat�on Shaft Cha�n1541

-----

14 Link

Cal�brat�on Bolt

1
3
,2

0
 m

m

Cal�per Br�bge Assembly Set 

M8x1.25x16 mm 

----- -----

----------

----- -----

----------

5/benef�tcal�per

SN5 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



SN5 SERIES

Brake Pad Reta�ner K�t1583 Cal�per Cover Set1579

MB 000 420 2582 - OTOKAR 13C3305630AA

K000029

MB 000 423 4687 - MAN 81.50822.6021
RENAULT 5021 175 269 - SAF 03.434.3816.00 

Ø 38 mm

----- -----

-----

-----

1622

1622-1

1623

1624

3 L�nes Mercedes Type Sensor

3 L�nes Man Type Sensor

2 L�nes Sensor

W�thout Sensor

1636

1
3
,2

0
 m

m

14 L�nk

Back V�ew

Ø 18x16x10mm

M8x1.25x16 mm 

Cal�per Repa�r K�t Complete ( 12-180 TGL MAN )

1572

1592

1540

1544

1502

Caliper Guide & Bush Repair Kit 

Roller Bearing Set

Pinion  Shaft 

Caliper Bridge Assembly Set 

Caliper Repair Kit 

1

1

1

1

1

1

1

1

1

1541

1543

1538

1594

Calibration Shaft Chain     

Adjusting Pinion Gear  

Calibration Bolt 

Caliper Cover Set 

K000133

6/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its



2/benef�tcal�per

Caliper Repair Kits



SB5 SERIES

PCS

1554 Cal�per Gu�de & Bush Repa�r K�t

1555

SAF : 03.434.3802.00  

1558

Cal�per Gu�de & Bush Repa�r K�t1664

-----

Cal�per Dust Cover1596

Cal�per Bellow K�t 1562 Cal�per Repa�r K�t1509

2001

2005

3002

3004

1005

6002

1006

6001

4002

1007

Caliper Pin 

Caliper Pin 

Pin Bolt   

Pin Bolt 

Bellow (Red)

Fiber O-ring 

Bellow (Black) 

Clamp

Bushing 
 
Plastic Bushing 

1

1

1

1

1

1

1

1

1

1

II328090062 - II369100062 

MAN 81 50822.6009 - NEOPLAN 11015565 - IVECO 9316 2049 
MB 000 420 1282 -  000 420 0782 - SCANIA 1798063 
DAF 1448915 - 1142142 - 1198153 - 1198154

K000935 II368470064

DAF 1448910 - SAF 03.434.3801.00 MB 050 121 2199

Ø 36x145 mm 

Ø 34x80 mm

M16x1,5x 80 mm

Ø 40x36x82 mm

M16x1,5x 150 mm

Cal�per Gu�de & Bush Repa�r K�t Cal�per Gu�de & Bush Repa�r K�t

II370760065

MB 000 420 1382

II350470061

MB 001 420 6683 - MAN 81.50822.6005

BPW 09.801.06.34.0

-----

-----

1/benef�tcal�per 1

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



Roller Bear�ng Set1547

-----

Cal�per Leveller1585

-----

P�n�on Shaft 1540

-----

Cal�per Br�bge Assembly Set 1545

-----

Cal�brat�on Bolt1538

-----

Cal�brat�on Shaft Cha�n1587

-----

P�n�on Shaft Gear 1591

-----

Cal�per Lever Support1660

-----

1
3
,2

0
 m

m

12 Link

----- -----

----- -----

----- -----

----- -----

2/benef�tcal�per

SB5 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



Cal�per Cap Set1679

-----

1680

-----

----- -----

-----

-----

Cal�per Cap Set

1625

1625-1

1626

1627

3 L�nes Mercedes Type Sensor

3 L�nes Man Type Sensor

2 L�nes Man Type Sensor

W�thout Sensor

SB5 SERIES

1635 Cal�per Repa�r K�t Complete ( 12-160 MAN )

1
3
,2

0
 m

m

12 L�nk

1538

1591

1545

1587

Cal�brat�on Bolt 

P�n�on Shaft Gear 

Cal�per Br�dge Assembly Set 

Cal�brat�on Shaft Cha�n     

1509

1547

1554

1540

1581

Cal�per Repa�r K�t 

Roller Bear�ng Set 

Cal�per Gu�de & Bush Repa�r K�t 

P�n�on  Shaft 

Cal�per Cover Set

1

1

1

1

1

1

1

1

1

----- -----

3/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its



2/benef�tcal�per

Caliper Repair Kits



SB6-SB7 SERIES

PCS

1685

PCS

1555

PCS

1554 Cal�per Gu�de & Bush Repa�r K�t

2001

2005

3002

3004

1005

6002

1006

6001

4002

1007

Caliper Pin 

Caliper Pin 

Pin Bolt   

Pin Bolt 

Bellow (Red)

Fiber O-ring 

Bellow (Black) 

Clamp

Bushing 
 
Plastic Bushing 

1

1

1

1

1

1

1

1

1

1

II328090062 - II369100062 

MAN 81 50822.6009 - NEOPLAN 11015565 - IVECO 9316 2049 
MB 000 420 1282 -  000 420 0782 - SCANIA 1798063 
DAF 1448915 - 1142142 - 1198153 - 1198154

Ø 36x145 mm 

Ø 34x80 mm

M16x1,5x 80 mm

Ø 40x36x82 mm

M16x1,5x 150 mm

2001

2005

3002

3001

1005

6002

1006

6001

4002

1007

Caliper Pin 

Caliper Pin 

Pin Bolt   

Pin Bolt 

Bellow (Red)

Fiber O-ring 

Bellow (Black) 

Clamp

Bushing 
 
Plastic Bushing 

1

1

1

1

1

1

1

1

1

1

Ø 36x145 mm 

Ø 34x80 mm

M16x1,5x 85 mm

Ø 40x36x82 mm

M16x1,5x 150 mm

 SCANIA 1390427
Cal�per Gu�de & Bush Repa�r K�t

II339680062

ONLY SB7 SERIES

K000935

SAF : 03.434.3802.00 

2001

3002

1005

6002

1006

6001

4002

Caliper Pin 

Pin Bolt   

Bellow (Red)

Fiber O-ring 

Bellow (Black) 

Clamp

Bushing 
 
 

1

1

1

1

1

1

1

Ø 36x145 mm 

Ø 40x36x82 mm

M16x1,5x 150 mm

Cal�per Gu�de & Bush Repa�r K�t

7

PCS

1557 Cal�per Gu�de & Bush Repa�r K�t MAN 81 50822.6006 - IVECO 9713 1439 BPW : 09.801.02.51.0
MB 000 420 1082 - 000 420 2182 - SETRA 8285515563

K000132 - II350470062

2002

2005

3003

3001

1005

6002

1006

6001

4002

1007

Caliper Pin 

Caliper Pin 

Pin Bolt   

Pin Bolt 

Bellow (Red)

Fiber O-ring 

Bellow (Black) 

Clamp

Bushing 
 
Plastic Bushing 

1

1

1

1

1

1

1

1

1

1

Ø 36x135 mm 

Ø 34x80 mm

M16x1,5x 85 mm

Ø 40x36x82 mm

M16x1,5x 140 mm

/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



Brake Pad Reta�ner K�t1599DUST COVER - SET1596

II350470061

MB 001 420 6683 - MAN 81.50822.6005

II350470063

BPW 09.801.02.58.0 - SAF 03.434.3803.00

Cal�per Bellow K�t 1562 Cal�per Bushing 4002

-----BPW 09.801.06.34.0

----- -----

1558

II368470064

DAF 1448910 - SAF 03.434.3801.00 MB 050 121 2199

Cal�per Gu�de & Bush Repa�r K�t Cal�per Gu�de & Bush Repa�r K�t1664

-----

-----

8

PCS

1568

K000472

MAN : 81.50822.6019 - 81.50822.6034 SCANIA : 1527631
IVECO : 4254 1412 BPW : 09.801.06.33.0 SAF : 03.434.381.20.0 
MERCEDES : 000 420 4682 SCHMITZ : 017478 DAF : 1639100  

Ø 36x114 mm

Ø 32x80 mm

Ø 40x36x82 mm  

Ø 40x15 mm   

M16x1,5x80 mm

M16x1,5x85 mm

Ø 73x40x39 mm   

Ø 73x40x39 mm   

2003

2004

3001

3004

4002

1009

1005

6002

7003

7002

Cal�per P�n  

Cal�per P�n 

P�n Bolt 

P�n Bolt  

Bush�ng  

Cal�per P�n Bush - Long  

Bellow (Red) 

F�ber O-r�ng  

Cal�per P�n R�ng

Cal�per P�n Cap 

1

1

1

1

1

1

1

1

1

1

Cal�per Gu�de & Bush Repa�r K�t

/benef�tcal�per

SB6-SB7 SERIES

SB6-SB7 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

1673

PCS

1614

PCS

1602

PCS

1665 -----

K067417K50

SAF 03.434.3820.00 - 03.434.3812.00

Ø 36x114 mm

Ø 32x80 mm

Ø 40x36x82 mm  

Ø 40x15 mm   

M16x1,5x80 mm

M16x1,5x85 mm

Ø 73x40x39 mm   

Ø 73x40x39 mm   

2003

2004

3001

3004

4002

1009

1005

6002

7001

6003

7003

7002

6133

Cal�per P�n  

Cal�per P�n 

P�n Bolt 

P�n Bolt  

Bush�ng  

Cal�per P�n Bush - Long  

Bellow (Red) 

F�ber O-r�ng  

Bolt Plug  

O-r�ng   

Bolt Plug

Bolt Plug

R�ng   

1

1

1

1

1

1

1

1

1

1

1

1

1

Cal�per Gu�de & Bush Repa�r K�t

Cal�per Gu�de & Bush Repa�r K�t

2003

2046

3001

3004

4002

1009

1005

6002

7002

Cal�per P�n   

Cal�per P�n  

P�n Bolt   

P�n Bolt  

Bush�ng 

Cal�per P�n Bush - Long   

Bellow (Red) 

F�ber O-r�ng  

Bolt Plug  

1

1

1

1

1

1

1

1

1

Ø 73x40x39 mm   

Ø 40x15 mm   

Ø 40x36x82 mm  

M16x1,5x80 mm

M16x1,5x85 mm

Ø 36x114 mm   

Ø 32x88.5mm   

K052759K50

K000375    

BPW 09.801.06.24.0 - MB 000 420 2982 - MAN 81.50822.6023 
IVECO 4253 8002 - SMB M91004801

K001532

Ø 73x40x39 mm   

Cal�per Gu�de & Bush Repa�r K�t

2003

2004

3001

3004

4002

1009

1005

6002

7001

6003

7003

Cal�per P�n   

Cal�per P�n  

P�n Bolt  

P�n Bolt  

Bush�ng  

Cal�per P�n Bush - Long   

Bellow (Red) 

F�ber O-r�ng 

Bolt Plug  

O-r�ng   

Bolt Plug  

1

1

1

1

1

1

1

1

1

1

1

Ø 36x114 mm

Ø 32x80 mm

Ø 40x36x82 mm  

M16x1,5x85 mm

M16x1,5x80 mm

Cal�per Gu�de & Bush Repa�r K�t
BPW 09.801.06.31.0 

2003

2004

3001

3004

4002

1049

1005

6002

7001

6003

7003

Cal�per P�n   

Cal�per P�n  

P�n Bolt  

P�n Bolt  

Bush�ng  

Cal�per P�n Bush - Long   

Bellow (Red) 

F�ber O-r�ng 

Bolt Plug  

O-r�ng   

Bolt Plug  

1

1

1

1

1

1

1

1

1

1

1

Ø 36x114 mm

Ø 32x80 mm

Ø 40x36x82 mm  

M16x1,5x85 mm

M16x1,5x80 mm

Ø 73x40x39 mm   

Ø 73x40x35 mm   

SB6-SB7 SERIES

Ø 73x40x35 mm   

Ø 73x40x39 mm   

9/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



1686

K000421

-----

1569 1597

-----

Cal�per Gu�de & Bush Repa�r K�t

Ø 73x40/39 mm Ø 73x40/39 mm 

Cal�per Gu�de & Bush Repa�r K�t

K000698

BPW 09.801.06.91.0 SAF 03.434.3813.00

K000697

1600

BPW : 09.801.06.90.0

1601

-----

Ø 73x40/35 mm Ø 73x40/35 mm 

Cal�per Gu�de & Bush Repa�r K�t Cal�per Gu�de & Bush Repa�r K�t

----- -----

1666

-----

1667

-----

Ø 73x40/39 mm 

Cal�per Gu�de & Bush Repa�r K�t

Ø 73x40/39 mm 

Cal�per Gu�de & Bush Repa�r K�t

----- -----

Cal�per P�n Bush - Long1009

BPW : 02.1410.21.00 

1049

BPW : 02.1410.22.00

Ø 73x40/39 mm Ø 73x40/35 mm 

Cal�per P�n Bush - Long

----------

Ø 73x40/35 mm 

Cal�per Repa�r K�t

PCS

Ø 32x80 mm2004

3004

1049

7003

7028

Cal�per P�n  

P�n Bolt 

Cal�per P�n Bush - Long  

Cal�per P�n R�ng

Steel 

1

1

1

1

2

M16x1,5x80 mm

10/benef�tcal�per

SB6-SB7 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



SB6-SB7 SERIES

PCS

1571

PCS

1606

PCS

1570

PCS

1593

Cal�per Gu�de & Bush Repa�r K�t

Cal�per Gu�de & Bush Repa�r K�t

Cal�per Gu�de & Bush Repa�r K�t

MB 000 420 2282 - 000 420 3482

2003

2004

2005

3001

3004

1005

6002

4002

1008

7001

6003

7002

1007

Caliper Pin 

Caliper Pin  

Caliper Pin 

Pin Bolt  

Pin Bolt  

Bellow (Red) 

Fiber O-ring  

Bushing  

Caliper Pin Bush - Short 

Bolt Plug 

O-ring     

Bolt Plug  

Plastic Bushing 

1

1

1

2

1

1

1

1

1

1

1

1

1

K000365

Ø 36x114 mm

Ø 32x80 mm

Ø 34x80 mm

M16x1,5x85 mm

Ø 40x15 mm

M16x1,5x80 mm

Cal�per Gu�de & Bush Repa�r K�t

Ø 40x36x82 mm 

Ø 55x40/39mm

Ø 55x40/39mm

K010813

MAN 81.50822.6033

ONLY SB7 SERIES

2003

2006

3001

3005

4002

4005

1005

6002

7001

6003

7004

Cal�per P�n  

Cal�per P�n 

P�n Bolt   

P�n Bolt  

Bush�ng  

Bush�ng  

Bellow (Red) 

F�ber O-r�ng 

Bolt Plug  

O-r�ng      

Bolt Plug  

1

1

1

1

1

1

2

2

1

1

1

Ø 36x114 mm

Ø 36x64 mm

Ø 40x36x82 mm 

Ø 40x36x20 mm 

Ø 40x25mm 

M16x1,5x85 mm

M16x1,5x70 mm

K000696 - II310370066

SAF  03.434.3805.00 - 8.443.4371.00.0 
SCANIA 1477675 - MB 002 420 0383 - BPW 09.801.02.97.0 

Ø 36x114 mm

Ø 40x36x82 mm  

2003

3001

1005

6002

4002

7001

6003

Cal�per P�n 

P�n Bolt 

Bellow (Red) 

F�ber O-r�ng г 

Bush�ng  

Bolt Plug 

O-r�ng  

1

1

1

1

1

1

1

M16x1,5x85 mm

ONLY SB7 SERIES

SCANIA1756390 - 1906779  

K031844K50 - K011117 - K031844K55

2003

2031

3001

3004

4002

1005

6002

7001

6003

1048

7002

1055

1056

7020

Caliper Pin  

Caliper Pin  

Pin Bolt  

Pin Bolt  

Bushing 

Bellow (Red) 

Fiber O-ring г 

Bolt Plug  

O-ring 

Caliper Bush  

Bolt Plug  

Fiber O-ring (Red) 

Bellow (Black)  

Bolt Plug   

1

1

1

1

1

1

1

1

1

1

1

1

1

1

Ø 36x114 mm

Ø 32x84 mm

Ø 40x36x82 mm 

Ø 40x15mm

Ø 42x36.5mm

M16x1,5x85 mm

M16x1,5x80 mm

11/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

1556 -----

PCS

1576

PCS

1575

PCS

1607

Cal�per Gu�de & Bush Repa�r K�t
IVECO 4253 7451

2003

2005

3001

1005

6002

4002

1007

7001

6003

Cal�per P�n  

Cal�per P�n  

P�n Bolt 

Bellow (Red) 

F�ber O-r�ng 

Bush�ng  

Plast�c Bush�ng 

Bolt Plug  

O-r�ng 

1

1

2

1

1

1

1

1

1

Ø 36x114 mm

Ø 34x80 mm

Ø 40x36x82 mm 

M16x1,5x85 mm

II39769F0062

II179320062 - II30413/0062

Ø 36x135 mm

Ø 34x120 mm

Ø 40x36x82 mm

M16x1,5x140 mm

M16x1,5x125 mm

DAF B230397 - MB 050 121 0167 
Cal�per Gu�de & Bush Repa�r K�t

2002

2037

3003

3034

4002

1051

1052

1053

6001

Cal�per P�n  

Cal�per P�n 

P�n Bolt   

P�n Bolt  

Bush�ng 

Plast�c Bush�ng  

Bellow (Black) 

Dust Cover  

Clamp  

1

1

1

1

1

1

1

1

1

Cal�per Gu�de & Bush Repa�r K�t

2001

2037

3002

3034

1005

6002

4002

1006

6001

1051

Cal�per P�n 

Cal�per P�n  

P�n Bolt   

P�n Bolt  

Bellow (Red) 

F�ber O-r�ng  

Bush�ng  

Bellow (Black)      

Clamp  

Plast�c Bush�ng   

1

1

1

1

1

1

1

1

1

1

MB 000 420 1182 - SCANIA 1415149 - 1390427 
RENAULT 0501 211 047

M16x1,5x150 mm

M16x1,5x125 mm

Ø 34x120 mm

Ø 40x36x82 mm

Ø 36x145 mm 

Ø 55x40x39mm

Cal�per Gu�de & Bush Repa�r K�t

2001

2004

3002

3004

4002

1008

1005

6002

1006

6001

Cal�per P�n   

Cal�per P�n

P�n Bolt  

P�n Bolt  

Bush�ng  

Cal�per P�n Bush - Short  

Bellow (Red) 

F�ber O-r�ng 

Bellow (Black)     

Clamp 

1

1

1

1

1

1

1

1

1

1

II358510062 - II339680062

K000687

DAF 1603326

Ø 36x145 mm 

Ø 32x80 mm

Ø 40x36x82 mm

M16x1,5x80 mm

M16x1,5x150 mm

Ø 55x40x39mm

12/benef�tcal�per

SB6-SB7 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



SB6-SB7 SERIES

PCS

1578

PCS

1603

PCS

1670 -----

PCS

1687 Cal�per Repa�r K�t

-----

-----

II197140062

Ø 36x135 mm

Ø 34x80 mm

Ø 40x36x82 mm

M16x1,5x140 mm

M16x1,5x85 mm

MAN 81.50822.6006

2002

2005

3001

3003

4002

1007

1052

6001

1054

Cal�per P�n 

Cal�per P�n  

P�n Bolt 

P�n Bolt  

Bush�ng 

Plast�c Bush�ng 

Bellow (Black)     

Clamp

Rubber Tap 

1

1

1

1

1

1

1

1

1

Cal�per Gu�de & Bush Repa�r K�t

Cal�per Gu�de & Bush Repa�r K�t

Cal�per Gu�de & Bush Repa�r K�t

2002

2005

3001

3003

4002

1007

1052

6001

1053

Cal�per P�n   

Cal�per P�n 

P�n Bolt   

P�n Bolt  

Bush�ng 

Plast�c Bush�ng  

Bellow (Black)      

Clamp

Dust Cover 

1

1

1

1

1

1

1

1

1

K048396K50 

II197330062

Ø 36x135 mm

Ø 34x80 mm

Ø 40x36x82 mm

M16x1,5x85 mm

M16x1,5x140 mm

SCANIA 1390426

Ø 55x40x35mm

2003

2004

3001

3004

4002

1105

1005

6002

7001

6003

Cal�per P�n

Cal�per P�n 

P�n Bolt   

P�n Bolt  

Bush�ng 

Cal�per P�n Bush - Short 

Bellow (Red) 

F�ber O-r�ng  

Bolt Plug 
 
O-r�ng  

1

1

1

1

1

1

1

1

1

1

Ø 36x114 mm

Ø 32x80 mm

M16x1,5x85 mm

M16x1,5x80 mm

Ø 55x40x35mm

Ø 40x36x82 mm

Ø 55x40x39mm

Ø 32x80 mm2004

3004

1008

7028

Cal�per P�n  

P�n Bolt 

Cal�per P�n Bush - Short 

Steel 

1

1

1

2

M16x1,5x80 mm

13/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

1716

K000472K51

Ø 36x114 mm

Ø 32x80 mm

Ø 40x15 mm

M16x1,5x80 mm

M16x1,5x85 mm

MERCEDES : 000 423 1450

2003

2004

3001

3004

7002

6133

1008

1005

6002

4002

Cal�per P�n

Cal�per P�n

Cal�per P�n Bolt

Cal�per P�n Bolt

Cal�per P�n Cap

Cal�per R�ng

Cal�per P�n Bush Short

Cal�per P�n Dust Cocer

Cal�per F�ber O-R�ng

Cal�per P�n Bush

1

1

1

1

1

1

1

1

1

1

Cal�per Gu�de & Bush Repa�r K�t

14

Ø 55x40x39mm

Ø 39 mm

Ø 40x36x82 mm

Cal�per P�n Bush Short1008Cal�per Gu�de & Bush Repa�r K�t1566

-----

-----

-----

-----

Caliper Adjusting Stick For Sensör1715 Cal�per Cover Gasket Set1717

----------

----- -----

1564

-----

-----

Cal�per Gu�de & Bush Repa�r K�t Cal�per Gu�de & Bush Repa�r K�t1565

-----

-----

Ø 55x40x39mm Ø 55x40x39mm

Ø 55x40x39mm
Ø 55x40x39mm

/benef�tcal�per

SB6-SB7 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



SB6-SB7 SERIES

Dust Cover Set1596 Cal�per Repa�r K�t1582

II350470061

MB 001 420 6683 - MAN 81.50822.6005

II328090061

BPW 09.801.06.11 - 0 09.801.02.60.0 - MAN 81.50822.6008 - DAF 1448914 
MB 001 420 5283  - IVECO 9316 2049

Brake Pad Reta�ner K�t 1599 Cover Set1604

II350470063

BPW 09.801.02.58.0 - SAF 3.434.3803.00

II344730063

MAN 81.50822.6010 - DAF 1448600

Cal�per Gu�de & Bush Repa�r K�t1688

II339830064

-----

1689

-----

-----

Cal�per Cover Set1581 Cal�per Bellow K�t1562

II39769F0063

SAF 03.434.3806.00 BPW 09.801.06.34.0

-----

1615

-----

Cal�per P�n Bush1048

-----

Cover Set

II197140063 -----

Cal�per Gu�de & Bush Repa�r K�t

15/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



1690 Cal�per Repa�r K�t  Complete

1003

1004

4001

1529

1590

1547

1539

Trust Part W�th Bellow 

Shaft Body Dust Rubber

Bush�ng  

Cal�per Br�dge Assembly  

Leveller 

Roller Bear�ng Set 

Cal�brat�on Shaft Cha�n  

2

2

2

1

1

1

1

1527

1528

1538

5001

Adjust�ng Mechan�sm Shaft  

P�n�on Shaft 

Cal�brat�on Bolt 

Spr�ng / весна  

1

1

2

1

+93°

1690 Cal�per Repa�r K�t  Complete

1003

1004

4001

1529

1663

1547

1539

Trust Part W�th Bellow 

Shaft Body Dust Rubber

Bush�ng  

Cal�per Br�dge Assembly  

Leveller 

Roller Bear�ng Set 

Cal�brat�on Shaft Cha�n  

2

2

2

1

1

1

1

1527

1528

1538

5001

Adjust�ng Mechan�sm Shaft  

P�n�on Shaft 

Cal�brat�on Bolt 

Spr�ng / весна  

1

1

2

1

+84°

16/benef�tcal�per

SB6-SB7 SERIES Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



SB6-SB7 SERIES

1517

1514

Cal�per Repa�r K�t  Complete

1003

1004

4001

1529

1522

1547

1539

Trust Part W�th Bellow 

Shaft Body Dust Rubber

Bush�ng  

Cal�per Br�dge Assembly  

Leveller 

Roller Bear�ng Set 

Cal�brat�on Shaft Cha�n  

2

2

2

1

1

1

1

1527

1528

1538

5001

Adjust�ng Mechan�sm Shaft  

P�n�on Shaft 

Cal�brat�on Bolt 

Spr�ng / весна  

1

1

2

1

1003

1004

4001

1529

1524

1547

1539

Trust Part W�th Bellow 

Shaft Body Dust Rubber

Bush�ng  

Cal�per Br�dge Assembly  

Leveller 

Roller Bear�ng Set 

Cal�brat�on Shaft Cha�n  

2

2

2

1

1

1

1

1527

1528

1538

5001

Adjust�ng Mechan�sm Shaft  

P�n�on Shaft 

Cal�brat�on Bolt 

Spr�ng / весна  

1

1

2

1

Cal�per Repa�r K�t  Complete

17/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



1516 Cal�per Repa�r K�t  Complete

1003

1004

4001

1529

1525

1547

1539

Trust Part W�th Bellow 

Shaft Body Dust Rubber

Bush�ng  

Cal�per Br�dge Assembly  

Leveller 

Roller Bear�ng Set 

Cal�brat�on Shaft Cha�n  

2

2

2

1

1

1

1

1527

1528

1538

5001

Adjust�ng Mechan�sm Shaft  

P�n�on Shaft 

Cal�brat�on Bolt 

Spr�ng / весна  

1

1

2

1

1692 Cal�per Repa�r K�t  Complete

1003

1004

4001

1529

1668

1547

1539

Trust Part W�th Bellow 

Shaft Body Dust Rubber

Bush�ng  

Cal�per Br�dge Assembly  

Leveller 

Roller Bear�ng Set 

Cal�brat�on Shaft Cha�n  

2

2

2

1

1

1

1

1527

1528

1538

5001

Adjust�ng Mechan�sm Shaft  

P�n�on Shaft 

Cal�brat�on Bolt 

Spr�ng / весна  

1

1

2

1

18/benef�tcal�per

SB6-SB7 SERIES Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



SB6-SB7 SERIES

Cal�per Leveller1590

-----

1663

-----

1522

-----

1524

-----

1525

-----

1668

-----

1546

-----

Roller Bear�ng Set1547

-----

+93° +84°

Cal�per Leveller

----- -----

----- -----

----- -----

----- -----

Roller Bear�ng Set

Cal�per Leveller Cal�per Leveller

Cal�per LevellerCal�per Leveller

19/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



P�n�on Shaft1528

-----

1681

-----

----- -----

P�n�on Shaft

Adjust�ng Mechan�sm Shaft 1527

-----

1655

-----

----- -----

P�n�on Shaft

1656

-----

1657

-----

----- -----

Adjust�ng Mechan�sm Shaft P�n�on Shaft

1538

-----

Cal�brat�on Shaft Cha�n1539

-----

----- -----

1
3
,2

0
 m

m

Cal�brat�on Bolt

29 Link

Adjust�ng Shaft Gear1542

-----

1613

----- Z001548

Cal�brat�on Nut

20/benef�tcal�per

SB6-SB7 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



SB6-SB7 SERIES

PCS

1510 Cal�per  Repa�r K�t 

-----

-----

1003

1004

4001

1005

6002

1006

6001

4002

7001

6003

1007

1011

Trust Part W�th Bellow    

Shaft Body Dust Rubber 

Bush�ng 

Bellow (Red) 

F�ber O-r�ng 

Bellow (Black) 

Clamp 

Bush�ng 

Bolt Plug 

O-r�ng   

Plast�c Bush�ng 

Plast�c Cover 

2

2

2

1

1

1

1

1

1

1

1

1

Ø74mm

Ø74mm

Ø 18x16x10 mm 

Ø 40x36x82 mm

PCS

1511

-----

-----
Cal�per  Repa�r K�t 

1003

1004

4001

1005

6002

1006

6001

1007

Trust Part W�th Bellow 

Shaft Body Dust Rubber     

Bush�ng 

Bellow (Red) 

F�ber O-r�ng  

Bellow (Black) 

Clamp 

Plast�c Bush�ng   

2

2

2

1

1

1

1

1

Ø74mm

Ø74mm

Ø 18x16x10 mm 

PCS

1506 Cal�per  Repa�r K�t 

K000944 - K010604 - K010606 - K015542

MAN 81 50822 6007 - 81 50822 6022 - 81 50822 6032 
BPW 09.801.02.63.0 - IVECO 9316 2050 -  - SAF 3.434.3804.00  - 4255 3530
DAF 1448913 - 1623221 - MB 000 420 0682 - 000 420 3982 - 000 420 4882 
SCANIA 1759811 - 1390429 - 1746824 - 1756389 - 1743421

1003

1004

4001

Trust Part W�th Bellow 

Shaft Body Dust Rubber

Bush�ng 

2

2

2

Ø74mm

Ø74mm

Ø 18x16x10 mm 

PCS

1577 Cal�per Cover Set
MAN 81.50822.6025 - DAF 1439494

1006

6001

7001

6003

Bellow (Black)  

Clamp 

Bolt Plug 

O-r�ng     

6

6

6

6

K001301

21/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



Cal�per Repa�r K�t1509 1548

-----

-----

1531

-----

1529

-----

II370760065

MB 000 420 1382

1507 1508

-----

Cal�per  Repa�r K�t 

II179320065 - II304130065

Cal�per  Repa�r K�t 

SCANIA 1390429

Bush�ng For Leveller

PCS

1530 Cal�per Br�dge Assembly - Set 

-----

-----

1529

1538

5001

1548

1

2

1

1

Cal�per Br�dge Assembly

Cal�brat�on Bolt 

Spr�ng  

Bush�ng For Leveller

Cal�per Br�dge Assembly

----------

Cal�per Br�dge Assembly

22/benef�tcal�per

SB6-SB7 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



SB6-SB7 SERIES

----- Plast�c Cover 

-----

-----

-----

-----

-----

1628

1629

1630

3 L�nes  Sensor

2 L�nes  Sensor

W�thout Sensor

1551

1551-1

1552

1553

3 L�nes Mercedes Type Sensor

3 L�nes Man Type Sensor

2 L�nes Man Type Sensor

W�thout Sensor

Plast�c Cover 

----- Plast�c Cover 

-----

-----

-----

-----

-----

1619

1620

1621

3 L�nes  Sensor

2 L�nes  Sensor

W�thout Sensor

1616

1617

1618

3 L�nes  Sensor

2 L�nes  Sensor

W�thout Sensor

Plast�c Cover 

23/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



Adjust�ng Shaft Gear 1678

-----

-----

Cal�per Lever Suport1660

-----

-----

Cal�per Cap Set1679

-----

-----

Ø 38 mm

1684

-----

1610

Brake Pad Reta�ner K�t 1584

-----

Cal�per Cover Set

1579

K000029

MB 000 423 4687 - MAN 81.50822.6021
RENAULT 5021 175 269 - SAF 03.434.3816.00 

Ø 38 mm

Plast�c Cover 

Cal�per Cover Set

----- K000945

MAN 81.50822.6024 - DAF 1439493

-----

1680

-----

Cal�per Cap Set

-----

24/benef�tcal�per

SB6-SB7 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



SB6-SB7 SERIES

Cal�per Caps K�ts1661

-----

1671

-----

1672

-----

Brake Pad Reta�ner K�t1662

-----

----- -----

Cal�per Caps K�ts

-----

-----

1693

K000946 

SCANIA 1504808

Cover Bolt1675

-----

-----

1676

-----

-----

1677

-----

-----

M12x1,75x80mm

M10x1,5x60mm

Cover Bolt Cover Bolt

M14x2x52mm

Brake Pad Reta�ner K�t

45 mm

Cal�per Caps K�ts

42 mm

25/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



1694

-----

-----

1695

-----

K002311

1696

-----

-----

1697

-----

-----

1698

-----

-----

1699

MB 000 420 2682 - 050 121 1049 - 627 420 0188 - DAF 1448911 
MAN 36.50822.6001 - 36.50822.6005 - RENAULT 5021 175 165   
IVECO 42538004 - 97131548 - BPW 09.801.02.66.0 - 09.801.02.76.0
SCHMITZ 015420  - FRUEHAUF M100969 - M91000201  
SAF 3.434.3807.00 - 3.434.3809.00 - 5.317.0026.00 - 8.531.7002.600 

K000129 - II19712004 - II30679004 - II197120061

Brake Pad Reta�ner K�t1583 Cal�per Repa�r K�t1712

-----

-----

MB 000 420 2582 - OTOKAR 13C3305630AA

Brake Pad Reta�ner K�t Brake Pad Reta�ner K�t

Brake Pad Reta�ner K�t Brake Pad Reta�ner K�t

Brake Pad Reta�ner K�t Brake Pad Reta�ner K�t

K000133

26/benef�tcal�per

SB6-SB7 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



SB6-SB7 SERIES

1639 Cal�per Repa�r K�t Complete

1506

1538

1527

1528

Cal�per Repa�r K�t 

Cal�brat�on Bolt 

Adjust�ng Mechan�sm Shaft  

P�n�on  Shaft 

1

2

1

1

1

1

1

1

1539

1531

1546

1561

Cal�brat�on Shaft Cha�n 

Cal�per Br�dge Assembly Set 

Roller Bear�ng Set 

Cal�per Gu�de & Bush Repa�r K�t     

1641

1506

1538

1527

1528

Cal�per Repa�r K�t 

Cal�brat�on Bolt 

Adjust�ng Mechan�sm Shaft  

P�n�on  Shaft 

1

2

1

1

1

1

1

1

1539

1531

1547

1561

Cal�brat�on Shaft Cha�n 

Cal�per Br�dge Assembly Set 

Roller Bear�ng Set 

Cal�per Gu�de & Bush Repa�r K�t     

MAN TGA YENİ MODEL (NEW MODEL) SETCal�per Repa�r K�t Complete

AXOR ESKİ MODEL (OLD MODEL) SET

27/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



2/benef�tcal�per

Caliper Repair Kits



SN7 - SK7 SERIES

PCS

1605 IVECO : 42562855

PCS

1700 MB 000 420 4382 

PCS

1561

K048371K50

Cal�per Gu�de & Bush Repa�r K�t

Ø 55x40x39mm

2003

2004

3001

3004

4002

1008

1005

6002

7001

6003

Cal�per P�n  

Cal�per P�n 

P�n Bolt 

P�n Bolt  

Bush�ng  

Cal�per P�n Bush - Short 

Bellow (Red) 

F�ber O-r�ng  

Bolt Plug  

O-r�ng   

   

Ø 36x114 mm

Ø 32x80 mm

Ø 40x36x82 mm  

M16x1,5x80 mm

M16x1,5x85 mm

Ø 55x40x39mm

1

1

1

1

1

1

1

1

1

1

K001915 - K048389K50 - K099604K50 

Ø 55x40x39mm

2003

2004

3001

3004

4002

1008

1005

6002

7002

Cal�per P�n  

Cal�per P�n 

P�n Bolt 

P�n Bolt  

Bush�ng  

Cal�per P�n Bush - Short 

Bellow (Red) 

F�ber O-r�ng  

Bolt Plug  

   

   

Ø 40x15 mm   

Ø 36x114 mm

Ø 32x80 mm

Ø 40x36x82 mm  

M16x1,5x80 mm

M16x1,5x85 mm

Ø 55x40x39mm

1

1

1

1

1

1

1

1

1

Cal�per Gu�de & Bush Repa�r K�t
MAN 81.50822.6037 - DAF 1847716 - IVECO 4256 2856

Cal�per Gu�de & Bush Repa�r K�t

K001925 - K028451

PCS

1673

K067417K50

SAF 03.434.3820.00 - 03.434.3812.00

Ø 36x114 mm

Ø 32x80 mm

Ø 40x36x82 mm  

Ø 40x15 mm   

M16x1,5x80 mm

M16x1,5x85 mm

Ø 73x40x39 mm   

Ø 73x40x39 mm   

2003

2004

3001

3004

4002

1009

1005

6002

7001

6003

7003

7002

6133

Cal�per P�n  

Cal�per P�n 

P�n Bolt 

P�n Bolt  

Bush�ng  

Cal�per P�n Bush - Long  

Bellow (Red) 

F�ber O-r�ng  

Bolt Plug  

O-r�ng   

Bolt Plug

Bolt Plug

R�ng   

1

1

1

1

1

1

1

1

1

1

1

1

1

Cal�per Gu�de & Bush Repa�r K�t

Ø 55x40x39mm

2039

2004

3001

3004

4038

1008

1005

6002

7002

Cal�per P�n  

Cal�per P�n 

P�n Bolt 

P�n Bolt  

Bush�ng  

Cal�per P�n Bush - Short 

Bellow (Red) 

F�ber O-r�ng  

Bolt Plug  

   

   

Ø 40x15 mm   

Ø 36x102 mm

Ø 32x80 mm

Ø 40x36x71 mm  

M16x1,5x80 mm

M16x1,5x85 mm

Ø 55x40x39mm

1

1

1

1

1

1

1

1

1

28/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

1612 -----

PCS

1609 -----

K001274 - K002716

Cal�per Gu�de & Bush Repa�r K�t

Cal�per Gu�de & Bush Repa�r K�t

K013007

PCS

1568

K000472

SAF : 3.434.381.20.0 BPW : 09.801.06.33.0 MERCEDES : 000 420 4682
MAN : 81.50822.6019 - 81.50822.6034 SCANIA : 1527631
DAF : 1639100 SCHMITZ : 017478 IVECO : 4254 1412      

Ø 36x114 mm

Ø 32x80 mm

Ø 40x36x82 mm  

Ø 40x15 mm   

M16x1,5x80 mm

M16x1,5x85 mm

Ø 73x40x39 mm   

Ø 73x40x39 mm   

2003

2004

3001

3004

4002

1009

1005

6002

7003

7002

Cal�per P�n  

Cal�per P�n 

P�n Bolt 

P�n Bolt  

Bush�ng  

Cal�per P�n Bush - Long  

Bellow (Red) 

F�ber O-r�ng  

Bolt Plug

Bolt Plug 

1

1

1

1

1

1

1

1

1

1

Cal�per Gu�de & Bush Repa�r K�t

2003

2006

3001

3005

6002

1011

7004

7002

1583

1549

4002

Cal�per P�n  

Cal�per P�n 

P�n Bolt 

P�n Bolt  

F�ber O-R�ng

Plast�c Cap

P�n Cap

P�n Cap

Brake Pad Reta�ner K�t

Cal�brat�on Nut

P�n Bush 

   

Ø 40x15 mm   

Ø 36x114 mm

Ø 36x64 mm

M16x1,5x70 mm

M16x1,5x85 mm

1

1

1

1

1

1

1

1

1

1

1

29

Ø 73x40x39 mm   

Ø 73x40x39 mm   

Ø 36x102 mm

Ø 32x80 mm

Ø 40x36x71 mm  

Ø 40x15 mm   

M16x1,5x80 mm

M16x1,5x85 mm

Ø 73x40x39 mm   

2039

2004

3001

3004

4038

1009

1005

6002

7003

7002

Cal�per P�n  

Cal�per P�n 

P�n Bolt 

P�n Bolt  

Bush�ng  

Cal�per P�n Bush - Long  

Bellow (Red) 

F�ber O-r�ng  

Bolt Plug

Bolt Plug 

1

1

1

1

1

1

1

1

1

1

PCS

1711 Cal�per Gu�de & Bush Repa�r K�t

K105599K55

SCANIA 2286677

2076

2031

3001

3004

4002

1005

6002

7001

6003

1048

7002

1055

1056

7020

4069

Caliper Pin  

Caliper Pin  

Pin Bolt  

Pin Bolt  

Bushing 

Bellow (Red) 

Fiber O-ring г 

Bolt Plug  

O-ring 

Caliper Bush  

Bolt Plug  

Fiber O-ring (Red) 

Bellow (Black)  

Bolt Plug

Plast�c Bush�ng   

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

Ø 36x114 mm

Ø 32x84 mm

Ø 40x36x82 mm 

Ø 40x15mm

Ø 42x36.5mm

M16x1,5x85 mm

M16x1,5x80 mm

Ø 30x30mm

Ø 40x25 mm   

Ø 40x36x82 mm   

/benef�tcal�per

SN7 - SK7 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



SN7 - SK7 SERIES

PCS

1573

PCS

1701 -----

1702

-----

1703

-----

PCS

1606 Cal�per Gu�de & Bush Repa�r K�t

K010813

MAN 81.50822.6033

2003

2006

3001

3005

4002

4005

1005

6002

7001

6003

7004

Cal�per P�n  

Cal�per P�n 

P�n Bolt   

P�n Bolt  

Bush�ng  

Bush�ng  

Bellow (Red) 

F�ber O-r�ng 

Bolt Plug  

O-r�ng      

Bolt Plug  

1

1

1

1

1

1

2

2

1

1

1

Ø 36x114 mm

Ø 36x64 mm

Ø 40x36x82 mm 

Ø 40x36x20 mm 

Ø 40x25mm 

M16x1,5x85 mm

M16x1,5x70 mm

K004100 - K010766 - K004168

MB 000 420 5082 -  SAF 3.434.3815.00000 420 5682
Cal�per Gu�de & Bush Repa�r K�t

Ø 36x114 mm

Ø 36x64 mm

Ø 40x36x82 mm 

Ø 40x36x20 mm 

Ø 40x25mm 

M16x1,5x85 mm

M16x1,5x70 mm

2003

2006

3001

3005

1005

6002

4005

4002

7004

7002

Cal�per P�n 

Cal�per P�n 

P�n Bolt   

P�n Bolt  

Bellow (Red) 

F�ber O-r�ng 

Bush�ng 

Bush�ng  

Bolt Plug  

Bolt Plug 

 

1

1

1

1

2

2

1

1

1

1

Cal�per Gu�de & Bush Repa�r K�t

K002872

K001691 K001692

Ø 40x15mm 

Ø 36x114 mm

Ø 36x70 mm

Ø 40x36x82 mm 

Ø 40x36x20 mm 

Ø 40x31mm 

M16x1,5x85 mm

M16x1,5x70 mm

2003

2075

3001

3005

1005

6002

4067

4002

7058

7002

Cal�per P�n 

Cal�per P�n 

P�n Bolt   

P�n Bolt  

Bellow (Red) 

F�ber O-r�ng 

Bush�ng 

Bush�ng  

Bolt Plug  

Bolt Plug 

 

1

1

1

1

2

2

1

1

1

1Ø 40x15mm 

Cal�per Gu�de & Bush Repa�r K�t Cal�per Gu�de & Bush Repa�r K�t

30/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



----- Plast�c Cover 

-----

-----

-----

-----

-----

1628

1629

1630

3 L�nes  Sensor

2 L�nes  Sensor

W�thout Sensor

1551

1551-1

1552

1553

3 L�nes Mercedes Type Sensor

3 L�nes Man Type Sensor

2 L�nes Man Type Sensor

W�thout Sensor

Plast�c Cover 

1574

-----

Cal�per P�n Repa�r K�t1704

-----

Cal�per Cap K�t1705

-----

1706

-----

----- -----

----------

Cal�per Gu�de & Bush Repa�r K�t

Cal�per Cap K�t

1684

-----

Plast�c Cover 

31/benef�tcal�per

SN7 - SK7 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



SN7 - SK7 SERIES

1519 Cal�per Repa�r K�t  Complete

1

1

2

1

1527

1528

1538

5001

Adjust�ng Mechan�sm Shaft  

P�n�on Shaft  

Cal�brat�on Bolt

Spr�ng   

1001

1002

4001

1532

1523

1546

1539

Trust Part W�th Bellow   

Shaft Body Dust Rubber  

Bush�ng 

Cal�per Br�dge Assembly 

Leveller 

Roller Bear�ng Set 

Cal�brat�on Shaft Cha�n  

2

2

2

1

1

1

1

1520 Cal�per Repa�r K�t  Complete

1

1

2

1

1527

1528

1538

5001

Adjust�ng Mechan�sm Shaft  

P�n�on Shaft  

Cal�brat�on Bolt

Spr�ng   

1001

1002

4001

1532

1526

1546

1539

Trust Part W�th Bellow   

Shaft Body Dust Rubber  

Bush�ng 

Cal�per Br�dge Assembly 

Leveller 

Roller Bear�ng Set 

Cal�brat�on Shaft Cha�n  

2

2

2

1

1

1

1

32/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



1518 Cal�per Repa�r K�t  Complete

1

1

2

1

1527

1528

1538

5001

Adjust�ng Mechan�sm Shaft  

P�n�on Shaft  

Cal�brat�on Bolt

Spr�ng   

1001

1002

4001

1532

1521

1546

1539

Trust Part W�th Bellow   

Shaft Body Dust Rubber  

Bush�ng 

Cal�per Br�dge Assembly 

Leveller 

Roller Bear�ng Set 

Cal�brat�on Shaft Cha�n  

2

2

2

1

1

1

1

1631 Cal�per Repa�r K�t  Complete

1

1

2

1

1527

1528

1538

5001

Adjust�ng Mechan�sm Shaft  

P�n�on Shaft  

Cal�brat�on Bolt

Spr�ng   

1001

1002

4001

1532

1588

1546

1539

Trust Part W�th Bellow   

Shaft Body Dust Rubber  

Bush�ng 

Cal�per Br�dge Assembly 

Leveller 

Roller Bear�ng Set 

Cal�brat�on Shaft Cha�n  

2

2

2

1

1

1

1

33/benef�tcal�per

SN7 - SK7 SERIES Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



SN7 - SK7 SERIES

1632 Cal�per Repa�r K�t  Complete

1

1

2

1

1527

1528

1538

5001

Adjust�ng Mechan�sm Shaft  

P�n�on Shaft  

Cal�brat�on Bolt

Spr�ng   

1001

1002

4001

1532

1586

1546

1539

Trust Part W�th Bellow   

Shaft Body Dust Rubber  

Bush�ng 

Cal�per Br�dge Assembly 

Leveller 

Roller Bear�ng Set 

Cal�brat�on Shaft Cha�n  

2

2

2

1

1

1

1

1659 Cal�per Repa�r K�t  Complete

1

1

2

1

1527

1528

1538

5001

Adjust�ng Mechan�sm Shaft  

P�n�on Shaft  

Cal�brat�on Bolt

Spr�ng   

1001

1002

4001

1532

1634

1546

1539

Trust Part W�th Bellow   

Shaft Body Dust Rubber  

Bush�ng 

Cal�per Br�dge Assembly 

Leveller 

Roller Bear�ng Set 

Cal�brat�on Shaft Cha�n  

2

2

2

1

1

1

1

34/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



1658 Cal�per Repa�r K�t  Complete

1

1

2

1

1527

1528

1538

5001

Adjust�ng Mechan�sm Shaft  

P�n�on Shaft  

Cal�brat�on Bolt

Spr�ng   

1003

1004

4001

1529

1633

1547

1539

Trust Part W�th Bellow   

Shaft Body Dust Rubber  

Bush�ng 

Cal�per Br�dge Assembly 

Leveller 

Roller Bear�ng Set 

Cal�brat�on Shaft Cha�n  

2

2

2

1

1

1

1

Cal�brat�on Shaft Cha�n  1539

-----

-----

Adjust�ng Shaft Gear1542

-----

-----

Roller Bear�ng Set 1546

-----

-----

1547

-----

-----

Roller Bear�ng Set 

35/benef�tcal�per

SN7 - SK7 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Caliper Repair Kits



SN7 - SK7 SERIES

P�n�on Shaft1528

-----

-----

1681

-----

-----

Adjust�ng Mechan�sm Shaft1527

-----

-----

1655

-----

-----

1656

-----

-----

1657

-----

-----

1669

-----

1674

-----

P�n�on Shaft

Adjust�ng Mechan�sm Shaft

Adjust�ng Mechan�sm Shaft Adjust�ng Mechan�sm Shaft

Adjust�ng Mechan�sm Shaft P�n�on Shaft

----------

36/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

1533

-----

-----
Cal�per Br�dge Assembly Set

1532

1538

1548

5001

Cal�per Br�dge Assembly

Cal�bra�ton Bolt

Bush�ng For Leveller

Cal�per Spr�ng

1

2

1

1

1535

-----

-----

1537

-----

-----

Cal�per Br�dge Assembly Cal�per Br�dge Assembly

37

Cal�per Br�dge Assembly1534

-----

-----

1532

-----

-----

Cal�per Br�dge Assembly

PCS

1536

-----

-----
Cal�per Br�dge Assembly Set

1535

1538

5001

Cal�per Br�dge Assembly

Cal�bra�ton Bolt

Cal�per Spr�ng

1

2

1

/benef�tcal�per

SN7 - SK7 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



SN7 - SK7 SERIES

PCS

1504 Cal�per Repa�r K�t

-----

-----

PCS

1505

-----

-----

PCS

1500

PCS

1707

-----

-----

K001300 - K010603 - K000366 - K010606 - K015542

MAN 81.50822.6031 - 81.50822.6020 -  SAF 3.434.3814.00 - IVECO 4254 1413
MB 000 420 4082 - 000 420 4982  - 000 420 2382 
DAF 1689313 - 1622785 - BPW 09.801.06.32.0 

Ø 18x16x10mm 

Ø 40x36x82mm

1001

1002

4001

1005

6002

1006

6001

4002

7001

6003

1007

1011

Trust Part W�th Bellow 

Shaft Body Dust Rubber

Bush�ng  

Bellow (Red)

F�ber O-r�ng  

Bellow (Black) 

Clamp
 
Bush�ng  

Bolt Plug   

O-r�ng 

Plast�c Bush�ng 

Plast�c Cover 

2

2

2

1

1

1

1

1

1

1

1

1

Ø 69mm

Ø 69mm

Ø 38mm

Cal�per Repa�r K�t

1001

4001

1005

6002

1006

6001

1007

Trust Part W�th Bellow  

Bush�ng  

Bellow (Red) 

F�ber O-r�ng  

Bellow (Black) 

Clamp  

Plast�c Bush�ng 

2

2

1

1

1

1

1

Ø 69mm

Ø 18x16x10mm 

Cal�per Repa�r K�t

Ø 18x16x10mm 

1001

1002

4001

Trust Part W�th Bellow 

Shaft Body Dust Rubber

Bush�ng

2

2

2

Ø 69mm

Ø 69mm

Cal�per Repa�r K�t

1001

1114

4001

Trust Part W�th Bellow 

Shaft Body Dust Rubber

Bush�ng

2

2

2

Ø 69mm

Ø 69mm

38/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



1501

-----

-----

1502

-----

-----

1503

-----

-----

Metal Cover K�t1550

-----

-----

1608

-----

-----

Cal�per Repa�r K�t Cal�per Repa�r K�t

Cal�per Repa�r K�t

45 mm 42 mm

Cal�per Caps K�ts1661

-----

1671

-----

1672

-----

-----

-----

Cal�per Caps K�ts

-----

M8x1,25x16mm
M8x1,25x16mm 

M8x1,25x50mm

Metal Cover K�t

Cal�per Caps K�ts

39/benef�tcal�per

SN7 - SK7 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



SN7 - SK7 SERIES

Cal�per Leveller1521

-----

-----

1588

-----

-----

1526

-----

-----

1586

-----

-----

1633

-----

-----

1634

-----

-----

1523

-----

-----

Cal�per Leveller

Cal�per Leveller Cal�per Leveller

Cal�per Leveller Cal�per Leveller

Cal�per Leveller Cal�per Repa�r K�t1712

-----

-----

40/benef�tcal�per

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



1637 Cal�per Repa�r K�t Complete  

M8x1,25x16mm

1500

1538

1527

1528

1547

Cal�per Repa�r K�t

Cal�brat�on Bolt 

Adjust�ng Mechan�sm Shaft  

P�n�on  Shaft 

Roller Bear�ng Set

1

2

1

1

1

1

1

1

1

1550

1537

1539

1602

Cal�per Cover Set 

Cal�per Br�dge Assembly Set

Cal�brat�on Shaft Cha�n

Cal�per Gu�de & Bush Repa�r K�t  

1638 Cal�per Repa�r K�t Complete  

M8x1,25x16mm

1500

1538

1527

1528

1534

Cal�per Repa�r K�t

Cal�brat�on Bolt 

Adjust�ng Mechan�sm Shaft  

P�n�on  Shaft 

Cal�per Br�dge Assembly Set

1

2

1

1

1

1

1

1

1

1550

1539

1568

1546

Cal�per Cover Set 

Cal�brat�on Shaft Cha�n

Cal�per Gu�de & Bush Repa�r K�t  

Cal�per Roller Bear�ng Set

ACTROS BPW YEN� MODEL (NEW MODEL) SET

ACTROS BPW ESKİ MODEL (OLD MODEL) SET

41/benef�tcal�per

SN7 - SK7 SERIES Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



SN7 - SK7 SERIES

1640 Cal�per Repa�r K�t Complete  

1642 Cal�per Repa�r K�t Complete  

M8x1,25x16mm

SCANIA SET

AXOR YENİ MODEL (NEW MODEL) SET

1506

1538

1527

1528

Cal�per Repa�r K�t 

Cal�brat�on Bolt 

Adjust�ng Mechan�sm Shaft  

P�n�on  Shaft 

1

2

1

1

1

1

1

1

1539

1534

1546

1561

Cal�brat�on Shaft Cha�n 

Cal�per Br�dge Assembly Set 

Roller Bear�ng Set 

Cal�per Gu�de & Bush Repa�r K�t 

    

1500

1538

1547

1537

1573

Cal�per Repa�r K�t 

Cal�brat�on Bolt 

Roller Bear�ng Set 

Cal�per Br�dge Assembly Set 

Cal�per Gu�de & Bush Repa�r K�t 

1

2

1

1

1

1

1

1

1

1550

1539

1527

1528

Metal Cover Set  

Cal�brat�on Shaft Cha�n 

Adjust�ng Mechan�sm Shaft  

P�n�on  Shaft 

    

42/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



2/benef�tcal�per

Caliper Repair Kits



SL7-SM7-ST7 SERIES

PCS

1647

-----

-----

PCS

1708

K012912

-----

PCS

1683 SCHMITZ 1227598 -  SAF 3.434.3824.00

Ø 36x114 mm

Ø 32x80 mm

M16x1,5x85 mm

Ø 40x36x82 mm  

Ø 40x11 mm

Ø 55x40x39 mm   

M16x1,5x80 mm

Cal�per Gu�de & Bush Repa�r K�t

Ø 55x40x39 mm   

2003

2004

3001

3004

1005

6002

4002

7027

1008

Cal�per P�n 

Cal�per P�n  

P�n Bolt   

P�n Bolt  

Bellow (Red) 

F�ber O-r�ng  

Bush�ng 

Bolt Plug  

Cal�per P�n Bush - Short  

1

1

1

1

1

1

1

1

1

Cal�per Gu�de & Bush Repa�r K�t

2003

2006

3001

3005

1005

6002

4002

7002

7004

4067

Cal�per P�n 

Cal�per P�n  

P�n Bolt   

P�n Bolt  

Bellow (Red) 

F�ber O-r�ng  

Bush�ng 

Bolt Plug  

Bolt Plug

Bush�ng  

1

1

1

1

2

2

1

1

1

1

Ø 36x114 mm

Ø 36x64 mm

M16x1,5x86 mm

Ø 40x36x82 mm  

Ø 40x15 mm

Ø 40x36x20 mm   

M16x1,5x70 mm

Ø 40x25 mm

K108002K50 - K108002K64 - K108002K62

Cal�per Cap K�t1705

-----

-----

1706

-----

-----

Cal�per Gu�de & Bush Repa�r K�t

2003

2004

3001

3004

6002

7002

1011

6006

8004

6004

6005

1549

Cal�per P�n 

Cal�per P�n  

P�n Bolt   

P�n Bolt  

F�ber O-r�ng  

Bolt Plug

Plast�c Cover

Brake Pad Reta�ner

P�n

Washer

Cotter P�n

Cal�brat�on Nut

1

1

1

1

1

1

1

1

1

1

1

1

Ø 36x114 mm

Ø 32x80 mm

M16x1,5x85 mm

M16x1,5x80 mm

Ø 40x15 mm

Ø 38 mm

Cal�per Cap K�t

43/benef�tcal�per

SL7-SM7
ST7

SERIES

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



1651 Cal�per Repa�r K�t  Complete

1

1

1

2

1

1

1539

1653

1528

1650

5001

1542

Cal�brat�on Shaft Cha�n 

P�n�on Shaft  

P�n�on Shaft 

Cal�brat�on Bolt 

Spr�ng   

Adjust�ng Shaft Gear

1069

1002

4043

1535

1649

1648

Trust Part W�th Bellow 

Shaft Body Dust Rubber 

Bush�ng  

Cal�per Br�dge Assembly 

Leveller 

Roller Bear�ng Set 

2

2

2

1

1

1

Ø 69mm 

1709 Cal�per Repa�r K�t  Complete

1

1

1

2

1

1539

1657

1528

1650

5001

Cal�brat�on Shaft Cha�n 

P�n�on Shaft  

P�n�on Shaft 

Cal�brat�on Bolt 

Spr�ng   

1069

1002

4043

1535

1682

1648

Trust Part W�th Bellow 

Shaft Body Dust Rubber 

Bush�ng  

Cal�per Br�dge Assembly 

Leveller 

Roller Bear�ng Set 

2

2

2

1

1

1

Ø 69mm 

44/benef�tcal�per

SL7-SM7-ST7 SERIES Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



SL7-SM7-ST7 SERIES

PCS

1654

-----

-----

1645

-----

-----

1646

-----

-----

1537

-----

-----

1535

-----

-----

Cal�per Repa�r K�t1643 1644

-----

-----

Cal�per Br�dge Assembly Set

1535

1650

5001

Caliper Bridge Assembly

Calibration Bolt 

Spring

1

2

1

Cal�per Br�dge Assembly Cal�per Br�dge Assembly 

K046523K50 - K108004K50 - K108004K64 - K108004K62 

MB 000 423 0316 - SCHMITZ 1227579 - SAF 03.434.3823.00

Cal�per Repa�r K�t

Cal�per Repa�r K�t Cal�per Repa�r K�t

45/benef�tcal�per

SL7-SM7
ST7

SERIES

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



P�n�on Shaft1528

-----

-----

1681

-----

-----

1653

-----

-----

P�n�on Shaft1657

-----

-----

Cal�brat�on Bolt1650

-----

-----

Adjust�ng Shaft Gear1542

-----

-----

Cal�brat�on Shaft Cha�n1539

-----

-----

Roller Bear�ng Set1648

-----

-----

P�n�on Shaft

29 Link

P�n�on Shaft
9
,5

0
 m

m

46/benef�tcal�per

SL7-SM7-ST7 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



SL7-SM7-ST7 SERIES

1682

-----

-----

Cal�per Leveller

47

Metal Cover K�t1550

-----

-----

1608

-----

-----

M8x1,25x50mm

Metal Cover K�t

Cal�per Sensor Rod K�t (Small)1678

-----

-----

Cal�per Cap Set1679

-----

-----

Cal�per Leveller1713

-----

/benef�tcal�per

Cal�per Leveller1649

-----

Cal�per Caps K�t1661

-----

-----

SL7-SM7
ST7

SERIES

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



----- Plast�c Cover 

-----

-----

1551

1551-1

1552

1553

3 L�nes Mercedes Type Sensor

3 L�nes Man Type Sensor

2 L�nes Man Type Sensor

W�thout Sensor

1684

-----

1579

K000029

MB 000 423 4687 - MAN 81.50822.6021
RENAULT 5021 175 269 - SAF 03.434.3816.00 

Ø 38 mm

Plast�c Cover Cal�per Cover Set

-----

Brake Pad Reta�ner K�t1583

MB 000 420 2582 - OTOKAR 13C3305630AA

1580

Ø 35 mm

Cal�per Cover Set

K003902

1611

Ø 35 mm

Cal�per Cover Set

-----

-----

K000133

-----

48

Caliper Repair K
its

/benef�tcal�per

SL7-SM7-ST7 SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



M8x1,25x16mm M8x1,25x50mm

Ø 55x40x39 mm   

SL7-SM7-ST7 SERIES

1652 Cal�per Repa�r K�t Complete  

1643

1650

1653

1528

1539

Caliper Repair Kit

Calibration Bolt 

Pinion  Shaft

Pinion  Shaft 

Calibration Shaft Chain

1

2

1

1

1

1

1

1

1

1

1537

1648

1647

1542

1608

Caliper Bridge Assembly Set

Roller Bearing Set

Caliper Guide & Bush Repair Kit

Adjusting Shaft Gear 

Metal Cover Kit        

1710

M8x1,25x16mm

Cal�per Repa�r K�t Complete  

1643

1650

1657

1528

1539

Caliper Repair Kit

Calibration Bolt 

Pinion  Shaft

Pinion  Shaft 

Calibration Shaft Chain

1

2

1

1

1

1

1

1

1

1537

1648

1683

1550

Caliper Bridge Assembly Set

Roller Bearing Set

Caliper Guide & Bush Repair Kit

Metal Cover Kit        

SL7-SM7
ST7

SERIES

49/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



PCS

5631 Cal�per Gu�de & Bush Repa�r K�t

PCS

1598 Dust Cover Set

PCS

5667 Brake Pad Reta�ner K�t

381.419

 IVECO : 9316 1560

PCS

5668

381.391

IVECO : 9316 1189

Ø 45x150 mm

M20x1,5x175 mm

Ø 23,5x92 mm

M16x1,5x124 mm

Ø 45x40x50 mm

Ø 38x55x24 mm

2061

2062

3068

3069

4061

4060

Cal�per P�n   

Cal�per P�n  

P�n Bolt   

P�n Bolt  

Bush�ng 

Cal�per P�n Bush  

1

1

1

1

2

1

381.413

IVECO : 9316 1192

1057

4035

4036

4037

1058

1059

1060

Cal�per Rubber 

R�ng Small 

R�ng B�g 

Rubber Cover 

Rubber Cover  

Dust Cover

Plast�c Cover  

  

2

2

2

1

1

2

1

Brake Pad Reta�ner K�t

II33692

IVECO : 9316 1843

Brake Pad Retainer Kit 5668 1

5667 Brake Pad Reta�ner K�t 1

50/benef�tcal�per

BENDIX SERIES Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



CARRIERS

PCS

10500 Cal�per Carr�er

PCS

10501 -----

PCS

10502

PCS

10503

SAF & BPW AXLE

BPW AXLE

MB FRONT AXLE

MAN 12-180

K004099 

10500 Caliper Carrier   377,50 mm

266,50 mm

213 mm

209 mm

399 mm

M16 x 1,5

M16 x 1,5

SCANIA 212600 

288 mm
218.50 mm

174 mm

228 mm

309 mm

M16 x 1,5

M14 x 1,5

K005606

209,50 mm

399,70 mm

248 mm

377,70 mm

286 mm

M16 x 1,5

K000026

MB 000 421 1106

266 mm

211,50 mm

266 mm

298.10 mm

366.40 mm

M16 x 1,5

Bottom View

K012619

BPW 05.362.79.62.0

1

Cal�per Carr�er

10501 Cal�per Carr�er   1

10502 Cal�per Carr�er   1

Cal�per Carr�er

Cal�per Carr�er

10503 Cal�per Carr�er   1

51/benef�tcal�per

CALIPER
CARRIER

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

10504

PCS

10505

PCS

10506

K001507 - Il334320061 - II197370061 

SCANIA : 1390425 - 2121596

PCS

10507

Cal�per Carr�er

Cal�per Carr�er

Cal�per Carr�er

Cal�per Carr�er

MB NEW 4140 REARK052379K50

MB 000 423 1006

10504 Caliper Carrier   1

10505 Cal�per Carr�er   1

210 mm

378 mm

286 mm

M16 x 1,5

210 mm

208 mm

278 mm

350 mm

322 mm

M16 x 1,5

10506 Cal�per Carr�er   1

378 mm

245 mm

286 mm

248,50 mm

290 mm

400 mm

M16 x 1,5

M18 x 2,5

10507 Cal�per Carr�er   1

210 mm

350 mm

248 mm

320,50 mm

286 mm

M16 x 1,5

MB AXOR 

SCANIA NEW MODEL

MB NEW 4140 FRONTK046498K50

MB 000 421 5706

K000027

MB 000 423 0606 SCANIA : 2121592

245 mm

400 mm

52/benef�tcal�per

CALIPER
CARRIER

CARRIERS Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

10508

PCS

10509

PCS

10510 -----

PCS

10511

Cal�per Carr�er

Cal�per Carr�er

Cal�per Carr�er

Cal�per Carr�er

MB ATEGOK000690 - K001926

MB 000 421 2006 -  JOST : JAE0110402006000 421 3106

10508 Caliper Carrier   1

211 mm
266 mm

360 mm

176 mm

341 mm

M16 x 1,5

SCANIA 1756388

10509 Cal�per Carr�er   1

435,25 mm

400 mm

290 mm

248 mm

286 mm
378 mm

M12 x 1,75

M20 x 2,5

M16 x 1,5

10510 Cal�per Carr�er   1

211,50 mm

266 mm

316 mm

216 mm

M18 x 1,5

M16 x 1,5

10511 Cal�per Carr�er   1

211,40 mm

266 mm

365,50 mm
297,50 mm

M16 x 1,5

BPW AXLE

SAF AXLE

SCANIA OLD MODELK010765

K015308

K004679

BPW 01.303.88.55.0

CARRIERS

53/benef�tcal�per

CALIPER
CARRIER

CALIPER
CARRIER

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

10512 -----

PCS

PCS

-----

PCS

Cal�per Carr�er

Cal�per Carr�er

Cal�per Carr�er

Cal�per Carr�er

MAN TGAK001278

10512 Caliper Carrier   1

219,50 mm

407,25 mm

248 mm

379,50 mm

286 mm

M16 x 1,5

M18 x 1,5

10513 Cal�per Carr�er   1

378 mm

286 mm

248 mm

290 mm

400 mm

M16 x 1,5

M18 x 2,5

211 mm
266 mm

359,50 mm

212 mm

337,50 mm

M16 x 1,5

10514 Cal�per Carr�er   1

10515 Cal�per Carr�er   1

290 mm

408 mm

248 mm

380 mm

286 mm

M16 x 1,5

10514

BPW AXLEK001105

10513

DAF TRUCKK011479

DAF 1689314 - 1521259

10515

MB CONNECTO RK001530

MB 000 421 3806 ZF 0501213710

54/benef�tcal�per

CARRIERS Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

PCS

10517 -----

PCS

10518

PCS

Cal�per Carr�er

Cal�per Carr�er

Cal�per Carr�er

Cal�per Carr�er

10516

MB CONNECTO LK001529

MB 000 421 3706

10516 Caliper Carrier   1

290 mm

408 mm

248 mm

380 mm

286 mm

M16 x 1,5

10517 Cal�per Carr�er   1

149mm

211 mm
266 mm

M16 x 1,5

196 mm

201,50 mm

10518 Cal�per Carr�er   1

M16 x 1,5

286.50 mm

286.50 mm

248.50 mm

297 mm
365 mm
433 mm

248 mm

378 mm

286 mm

210 mm

400 mm

M16 x 1,50

10518 Cal�per Carr�er   1

SCHMITZ TRAILERK007475

BPW AXLEK004680

BPW 01.303.88.57.0

10519

MB AXORK000028

MB 000 421 1206

CARRIERS

55/benef�tcal�per

CALIPER
CARRIER

CALIPER
CARRIER

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

10520

PCS

10521

K046764K50

MB : 000 421 5806

PCS

10522

K001505

-----

PCS

10523

K001497

-----

Cal�per Carr�er

Cal�per Carr�er

Cal�per Carr�er

Cal�per Carr�er

MB ATEGOK001927

MB 000 421 3006

10520 Caliper Carrier   1

174 mm

300 mm

219 mm

214 mm

316 mm

M16 x 1,50

245 mm

378 mm

286 mm

210 mm

400 mm

M16 x 1,50

MERCEDES 4140 FRONT

10521 Cal�per Carr�er   1

BPW AXLE

10522 Cal�per Carr�er   1

248 mm

400 mm

286 mm

220 mm

310 mm

M16 x 1,50

M18 x 1,50

 BPW AXLE - R

266 mm

M16 x 1,5

176 mm

137,50 mm 158 mm

166,50 mm

211 mm

10523 Cal�per Carr�er   1

56/benef�tcal�per

CARRIERS Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



266 mm

M16 x 1,5

176 mm

137,50 mm158 mm

166,50 mm

211 mm

PCS

10524

K004206

-----

PCS

10525

K001494

MB : 000 421 1306

PCS

10526

K001525

-----

PCS

10527

K108814K50 - K001510 

IVECO : 4257 4292

Cal�per Carr�er

Cal�per Carr�er

Cal�per Carr�er

Cal�per Carr�er

BPW AXLE - L

10524 Caliper Carrier   1

266 mm

M16 x 1,5

176 mm

341 mm

360 mm

211 mm

MERCEDES ATEGO

10525 Cal�per Carr�er   1

248 mm

378 mm

286 mm

400 mm

M16 x 1,50

M20 x 1,50

SMB AXLE

10526 Cal�per Carr�er   1

 IVECO TRUCK

Cal�per Carr�er   286 mm

M16 x 1,5

264 mm

348 mm

248 mm

M20 x 2,0

392 mm

10527 1

CARRIERS

57/benef�tcal�per

CALIPER
CARRIER

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

10528

K108001K50

-----

PCS

10529

K000358

PCS

10530

K002314

-----

PCS

10531 -----

Cal�per Carr�er

Cal�per Carr�er

Cal�per Carr�er R

Cal�per Carr�er L

SCHMITZ TRAILER

278 mm

M16 x 1,5

196 mm

215,50 mm

266 mm

201,50 mm

149 mm

10528 Caliper Carrier   1

216 mm

M16 x 1,5

213,75 mm

174 mm

315,75 mm

299,75 mm

10529 Cal�per Carr�er   1

MB 000 421 1606

360 mm

211,00 mm

341 mm

266 mm

M16 x 1,5

297 mm

10530 Cal�per Carr�er   1

360 mm

211,00 mm

341 mm

266 mm

M16 x 1,5

297 mm

10531 Cal�per Carr�er   1

K002313

IVECO TRUCK

IVECO TRUCK

58/benef�tcal�per

CARRIERS Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

10532

K001275

MB : 000 421 2506 JOST : JAE0210402506 

PCS

10533 -----

PCS

-----

PCS

-----

Cal�per Carr�er

Cal�per Carr�er

Cal�per Carr�er

Cal�per Carr�er

CARRIERS

248,00 mm

286 mm

175,50mm

M16 x 1,5

359 mm

340,50 mm
10532 Caliper Carrier   1

248 mm

286 mm

220 mm

M16 x 1,5

400 mm

310 mm

M18 x 1,5

10533 Cal�per Carr�er   1

10534

10534 Cal�per Carr�er   1

JOST AXLE

K001521 BPW AXLE

K0015378 SAF AXLE

10535

K001502 ZF AXLE

10535 Cal�per Carr�er   1

211 mm

266 mm

216 mm

M16 x 1,5

316 mm

M18 x 1,5

248 mm

286 mm

316 mm

M16 x 1,5

406 mm

M20 x 1,5

59/benef�tcal�per

CALIPER
CARRIER

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



211 mm

266 mm

M16 x 1,5

341 mm

360 mm

212 mm

PCS

K001538

MB : 000 421 2606 

PCS

-----

-----

Cal�per Carr�er

Cal�per Carr�er

10536

MB OLD MODEL FRONT

10536 Caliper Carrier   1

10537

MB OLD MODEL REAR

10537 Cal�per Carr�er   1

210 mm

400,25 mm

248 mm

378 mm

286 mm

M16 x 1,5

349,50 mm

248 mm

321,75 mm

286 mm

M16 x 1,5

209,75 mm

60

PCS

BPW : 02.0313.09.00

PCS

Cal�per Carr�er

Cal�per Carr�er

10538

10538 Cal�per Carr�er   1

K001493 BPW AXLE

10539

K013742 JOST AXLE

10539 Cal�per Carr�er   1

211 mm

266 mm
341 mm

176 mm

360 mm

M16 x 1,5

MB : 000 421 3906 - JOST : JAE0210403906

/benef�tcal�per

CARRIERS Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its

Calip
er R

epair K
its



PCS

10540

-----

-----

PCS

10541 -----

Cal�per Carr�er

Cal�per Carr�er

CARRIERS

10540 Caliper Carrier   1

10541 Cal�per Carr�er   1

DAF TRUCK

K108006K50 SAF AXLE

61

278 mm

215,50 mm

216 mm

316 mm

M16 x 1,5

M18 x 1,5

378 mm

286 mm

248 mm

290 mm

400 mm

M16 x 1,5

M20 x 2,5

/benef�tcal�per

CALIPER
CARRIER

Caliper Repair Kits

Calip
er R

epair K
its

Calip
er R

epair K
its



2/benef�tcal�per

Caliper Repair Kits



CALIPER
CARRIER

Cal�per Repa�r K�ts

1573 1588 1674 1500 1536 1608

Info About Cal�per  

Cal�per Type  Knorr Bremse SK7

Truck & Tra�ler Brand Ser�es & Model D�ameter

90000 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

90000

0034209183

BPW Var�ous Tra�ler Axles 2 22,5

1 22,5

1 22,5

V
e
h

�c
le

 C
o

d
e

Mercedes

SCMITZ Var�ous Tra�ler Axles

MERCEDES TRAILER Var�ous Tra�ler Axles

SAF HOLLAND Var�ous Tra�ler Axles 1 22,5

SK7042RC

K012633

K012633K62

K012633K64

K012633K69

Schm�tz

Schm�tz

1006018

1105070

SAF03.080.0059.00
SAF03.080.0059.01

Cal�per Repa�r K�ts

1573 1588 1674 1500 1536 1608

Info About Cal�per  

Cal�per Type  Knorr Bremse SK7

Truck & Tra�ler Brand Ser�es & Model D�ameter

90001 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

90001

9464202301

BPW Var�ous Tra�ler Axles 1 22,5

2 22,5

2 22,5

Mercedes

SCMITZ Var�ous Tra�ler Axles

MERCEDES TRAILER Var�ous Tra�ler Axles

SAF HOLLAND Var�ous Tra�ler Axles 2 22,5

SK7052RC
K012634
K012634K62
K012634K64
K012634K69

Schm�tz1105071

SAF

03.080.0060.00

SAF03.080.0060.20

K126632X50
K132663X50

SAF

03.080.0060.01

62/benef�tcal�per

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

V
e
h

�c
le

 C
o

d
e

CARRIERSCaliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



CARRIERS Caliper Repair Kits

Cal�per Repa�r K�ts

1573 1588 1674 1500 1536 10500

Info About Cal�per  

Cal�per Type  Knorr Bremse SK7

Truck & Tra�ler Brand Ser�es & Model D�ameter

90004 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

90004

Var�ous Tra�ler Axles 22,5SAF HOLLAND 1

SAF03.080.0055.20
SAF

03.080.0055.02

Cal�per Repa�r K�ts

1573 1588 1674 1500 1536 10500

Info About Cal�per  

Cal�per Type  Knorr Bremse SK7

Truck & Tra�ler Brand Ser�es & Model D�ameter

90005 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

90005

Var�ous Tra�ler Axles 22,5SAF HOLLAND 2

SAF
03.080.0054.20

SAF03.080.0054.02

SAF
03.080.0054.21

K003400

K013873

K003402

SK7002

SK7003

SK7028

SK7029

K011545

K011547

K012633

K110228

03.080.0055.21

03.080.0055.01 SAF
SAF

K003401

K013874

K003403

SK7012

SK7013

SK7038

SK7039

K011546

K011548

K012634

K110229

SAF03.080.0054.01

63/benef�tcal�per

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

V
e
h

�c
le

 C
o

d
e

V
e
h

�c
le

 C
o

d
e

Caliper Repair Kits

Caliper Repair Kits



Cal�per Repa�r K�ts

1573 1588 1674 1500 1536 10503

Info About Cal�per  

Cal�per Type  Knorr Bremse SK7

Truck & Tra�ler Brand Ser�es & Model D�ameter

90008 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

90008

Var�ous Tra�ler Axles 22,5BPW 2

BPW05.362.70.81.0

Cal�per Repa�r K�ts

1573 1588 1674 1500 1536 10503

Info About Cal�per  

Cal�per Type  Knorr Bremse SK7

Truck & Tra�ler Brand Ser�es & Model D�ameter

90009 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

90009

Var�ous Tra�ler Axles 22,5BPW 1

05.362.70.82.0 BPW

K028024

K021666

SK7025

K028025

K021667

SK7035

64/benef�tcal�per

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

V
e
h

�c
le

 C
o

d
e

V
e
h

�c
le

 C
o

d
e

CALIPER
CARRIER

CALIPER
CARRIER

CARRIERSCaliper Repair Kits

Caliper Repair Kits

Caliper Repair Kits



CARRIERS Caliper Repair Kits

Cal�per Repa�r K�ts

1573 1588 1674 1500 1536 10510

Info About Cal�per  

Cal�per Type  Knorr Bremse SK7

Truck & Tra�ler Brand Ser�es & Model D�ameter

90010 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

90010

Var�ous Tra�ler Axles 22,5SAF HOLLAND 1

SAF03.080.0059.00
SAF

Cal�per Repa�r K�ts

1573 1588 1674 1500 1536 10510

Info About Cal�per  

Cal�per Type  Knorr Bremse SK7

Truck & Tra�ler Brand Ser�es & Model D�ameter

90011 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

90011

Var�ous Tra�ler Axles 22,5SAF HOLLAND 2

SAF
03.080.0060.00 SAF
03.080.0060.01

K023796

K015086

K110226

SK7041

SK7009

K012341

03.080.0059.01

K023797

K015087

K110227

SK7051

SK7019

K012342

65/benef�tcal�per

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

V
e
h

�c
le

 C
o

d
e

V
e
h

�c
le

 C
o

d
e

Caliper Repair Kits

Caliper Repair Kits



CALIPER
CARRIER

CARRIERSCaliper Repair Kits

Cal�per Repa�r K�ts

1573 1588 1674 1500 1536 10517

Info About Cal�per  

Cal�per Type  Knorr Bremse SK7

Truck & Tra�ler Brand Ser�es & Model D�ameter

90012 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

90012

Var�ous Tra�ler Axles 22,5SCHMITZ 1

SCHMITZ056793

Cal�per Repa�r K�ts

1573 1588 1674 1500 1536 10517

Info About Cal�per  

Cal�per Type  Knorr Bremse SK7

Truck & Tra�ler Brand Ser�es & Model D�ameter

90013 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

90013

Var�ous Tra�ler Axles 22,5SCHMITZ 2

056794 SCHMITZ

SK7026

K001481

K001482

SK7036

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

V
e
h

�c
le

 C
o

d
e

V
e
h

�c
le

 C
o

d
e

66/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits



CARRIERS Caliper Repair Kits

Cal�per Repa�r K�ts

1573 1588 1674 1500 1536 10539

Info About Cal�per  

Cal�per Type  Knorr Bremse SK7

Truck & Tra�ler Brand Ser�es & Model D�ameter

90014 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

90014

Var�ous Tra�ler Axles 22,5MERCEDES 1

MercedesA9464202201

Cal�per Repa�r K�ts

1573 1588 1674 1500 1536 10539

Info About Cal�per  

Cal�per Type  Knorr Bremse SK7

Truck & Tra�ler Brand Ser�es & Model D�ameter

90015 - A�r D�sc Cal�per

Cross Referance

B
e
n

e
f�

t 
C

o
d

e

90015

Var�ous Tra�ler Axles 22,5MERCEDES 2

A9464202301 Mercedes

K011365

K013027

K113728

SK7007

SK7008

K010277

K010279

K113730

K126866

K113732

K011367

K010281

K010283
MercedesA9464202401

MercedesA9464203101
MercedesA9464203701

K011366

K013028

K113733

SK7017

SK7018

K010278

K010280
K010282

K010284

K011368

K126867
A9464202501 Mercedes

A9464203201 Mercedes
A9464203801 Mercedes

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

M
a
n

u
fa

c
tu

re
r 

C
o

d
e

V
e
h

�c
le

 C
o

d
e

V
e
h

�c
le

 C
o

d
e

67/benef�tcal�per

Caliper Repair Kits

Caliper Repair Kits


